10 9 8 \ 7 6 5 4 3 2 \ 38732
e
‘o
0
4.8 il
822TYP, / +
AN
—— 10z 190
40 75
i W W L f
AUX. VIEW
SCALE 11
9.4
S5 TYP
R[ | BEAU
— [l = c‘ —— 73
: 2| |ix | : : : + @ = 18.0
| | | | | I 75
| \ \ \ \ )
‘ \ \ \ \ 27
! ! ! ! ! f f
| | | | { g
8.1 0
J L 2 8.8 €0
=S TYP. 22 o
11 f
NOTES: 438 981rvp, B35
1. MATERIAL: SEE TABLE.
2. FINISHES: SEE TABLE. —
3. XX REFERS TO QUANTITY OF CRCUITS. 2 | |QUALITY| GENERAL TOLERANCES MM Sé’f,]LE DESFNNCUI_N"TS © ] LHIRD. ANGLE
4. ALL COMPONETS ARE ROHS COMPLAINT. ‘ B’ = =| |symBoLs| (UNLESS SPECIFIED : PROJECTION
5. -59 OPTION: SCREWS SUPPLIED UNASSEMBLED FoS = Vo mm INCH JDERNACW‘NNTS 20??/%8/27 TITLE 1111/438° SR BTS
as™ T3¢0 [4PLACGES[t-—- [+--- S :
o< 5 —== INSUL TURRET, FT ASSY
; £ 3 PLACES [& +£.005 |CHECKED BY DATE , )
4 | XX |SCREW & WASHER, #8-32, PAN HEAD (-50 OPTI|BRASS NICKEL PLATE 9?% 2 =|E[\7/-0 [ZPaCEsfross |2 01 MACNEIL 2013708777 #8-32 SCREWS
3 | XX |SCREW , #8-32, BIN HEAD (A- OPT) STEEL IN (LEAR (RROMATE| 6 5 & 5|8 TPLACE |[£0.3 |f--—-  |APPROVED BY DATE N\
Rez = NGULAR ® 7 UMACNEIL  2014/03/10 otex  MOLEX INCORPORATED
2 XX | TERMINAL, FT, 8-32, SN/B BRASS TN PLATE a % Fhe MATERIAL NO. DOCUMENT NO. SHEET NO.
O_&=a DRAFT WHERE APPLICABLE] SEE CHART | SD-38732-002 1 QF 2
! T [INSULATOR, SNGLE ROW POLYESTER (PET) | BLACK LHoo= W\Tm\UNSE\MREENMSA\‘ONNS SIZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM | OTY | DESCRIPTION MATERIAL FINSH B £ 3 |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
tb_frame_B_P_ME_T 9 8 7 ‘ 6 5 4 ‘ 3 ‘ 2 ‘ 1
Rev. D 2004/04/02




10 8 7 6 5 4 3 2 38732
. . . . ASSEMBLY ASSEMBLY ASSEMBLY
C[\\lR%U?ES mrr?‘M. A n mﬁ?‘M' B n mmD‘M' c n mﬁ?‘M' D n MATERIAL NO. | MATERIAL NO. | MATERIAL NO.
(-A OPT) (-A-50 OPT) |(-A-50-59 OPT)
02 43.5 1.71 M1 438 33.34 1.313 245 97 38732-2502 38732-2702
03 54.6 215 22.23 875 44 L5 1.750 35.7 1.40 38732-2503 38732-2703
04 65.7 259 | 33.34 1.313 55.656 2.188 4B6.8 1.84 38732-2504 38732-2704 38733-0616
05 76.8 3.03 | 44.45 1750 | 66.68 2.625 578 2.28 38732-2505 38732-2705
06 87.9 3.46 | 65.56 2188 | 77.79 3.063 69.0 2.72 38732-2508 38732-2706
07 99.1 3.90 | 66.68 2.625 | 88.90 3.500 80.1 3.15 38732-2507 38732-2707
08 110.2 4.34 | 77.79 3.063 | 100.01 3.938 91.2 3.59 38732-2508 38732-2708 38738-0617
09 121.3 478 | 88.90 3.500 11113 4.375 102.3 4.03 38732-25089 38732-2709
10 132.4 5.21 100.01 3.938 | 122.24 4.813 113.4 4,47 38732-2510 38732-2710 38733-0618
" 143.5 5.65 11113 4.375 | 133.35 5.250 124.8 4.90 38732-251 38732-271
12 154.6 5.09 | 122.24 4813 | 144.46 5.688 135.7 5.34 38732-2512 38732-2712
13 165.7 6.53 | 133.35 5.250 | 155.568 6.125 146.8 5.78 38732-2513 38732-2713
14 176.8 6.96 | 144.46 5.688 | 166.69 £6.563 157.9 6.22 38732-2514 38732-2714
15 188.0 7.40 | 155.58 6.125 | 177.80 7.000 169.0 6.65 38732-2515 38732-2715
16 199.1 7.84 | 166.69 6.563 | 188.91 7.438 180.1 7.09 38732-2516 38732-2716
17 210.2 8.28 | 177.80 7.000 | 200.03 7.875 191.2 7.53 38732-2517 38732-2717
18 2213 8.71 | 188.91 7.438 21114 8.313 202.3 7.97 38732-2518 38732-2718
19 232.4 g.15 200.03 7.875 | 222.25 8.750 2135 8.40 38732-2519 38732-2719
20 243.5 9.539 2114 8.313 | 233.36 9.188 2246 8.84 38732-2520 38732-2720
21 254.6 10.03 222.25 8.750 | 244.48 9.625 235.7 9.28 38732-2521 38732-2721
22 265.7 10.46 233.36 9.188 | 255.59 10.063 246.8 9.72 38732-2522 38732-2722
23 2769 10.80 244.48 9.625 | 266.70 10.500 257.9 10.15 38732-2523 38732-2723
24 288.0 1M.34 255.59 10.063 | 277.81 10.938 269.0 10.59 38732-2524 38732-2724
25 299.1 11.78 266.70 10.500 | 288.93 1.375 280.1 11.03 38732-2525 38732-2725
26 310.2 12.21 277.81 10.838 | 300.04 11.813 291.2 1.47 38732-2526 38732-2726
27 321.3 12.65 288.93 11.375 311.15 12.250 302.4 11.90 38732-2527 38732-2727
28 332.4 13.089 300.04 11.813 322.26 12.688 3135 12.34 38732-2528 38732-2728
29 343.5 13.53 31115 12.250 | 333.38 13.125 3246 12.78 38732-2529 38732-2729
30 354.6 13.96 322.26 12.688 | 344.49 13.563 335.7 13.22 38732-2530 38732-2730
% g GENERAL TOLERAN[ES DIMENSION STYLE SCALE DESIGN UNITS
=z SQYU%&YS (UNLESS SPECIFIED) MM/IN 2:1 INCH ©d ;E‘ORJDECATN\OGNLE
Wo g g _ mm ‘N[H DRAWN BY DATE TITLE »
2385 =|z|W-0 [ZPAGS[E—- [£-— JENCINAS 2013/08/27 11.11/.438" SR BTS,
o< N S PLACES |t ——= |+.005 |CHECKED BY DATE INSUL TURRET, FT ASSY,
msg =% \&/=0 [2 PLACES|£0.13_[.07 JMACNE I L 2013/08/27 —~ #8-32 SCREWS
w N = = % j PLA[E + 03 +-— APPROVED BY DATE
TCZ £ ANCULAR = 7= UMACNEIL  2014/03/10]Molex MOLEX INCORPORATED
% el MATERIAL NO. DOCUMENT NO. SHEET NO.
Ho==g DRAFT WHERE APPLICABLE] SEE CHART | SD-38732-002 2 OF 2
oo < W‘Tm‘UNSE‘MREENMSA“ONNS SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
B g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
S 5 : T : « o b




